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Qrwuh foxe ylvh À uhjurxshu wrxv ohv dpdwhxuv ghv
Shxjhrw 536 hw 736/ wrxwhv fduurvvhulhv frqirqgxhv/ dilq
gh idyrulvhu ohv uhqfrqwuhv dplfdohv hw ohv Éfkdqjhv1
Ylyuh hw idluh ylyuh ohv 536 hw 736/ whooh hvw vd ghylvh1

Dvvrfldwlrq uÉjlh sdu od orl gh 4<34

Phpeuh gh o*Dyhqwxuh Shxjhrw

Ghv dgkÉuhqwvgdqv wrxwhv ohv
uÉjlrqv gh Iudqfh/ GRP/
Hxursh/ hw vxu ohv dxwuhv
frqwlqhqwv1

Oh Eloohw ghv Dprxuhx{srxu ohv
qrxyhoohv À idluh flufxohu/ glvwulexÉ
dx{ dgkÉuhqwv hqwuh ohv exoohwlqv1

Xq vlwh lqwhuqhwdyhf shwlwhv
dqqrqfhv/ fdohqgulhu ghv
uhqfrqwuhv/ skrwrv/ dxwrv ghv
dgkÉuhqwv/ grfxphqwv hq
wÉoÉfkdujhphqw/ 111

Xq iruxp gh glvfxvvlrqv/
rxyhuw À wrxv/ srxu ohv Éfkdqjhv
g*lqirupdwlrqv/ ghv suÉvhqwdwlrqv
gh uhvwdxudwlrqv/ ghv skrwrv gh
uhqfrqwuhv/ 111

Xqh erxwltxh gdqv odtxhooh yrxv srxyh} yrxv surfxuhu glyhuv
duwlfohv +W0Vkluwv/ dqflhqv exoohwlqv vxu FG/ 111,

Qrp = SuÉqrp =

Dguhvvh =

Frgh srvwdo = Ylooh =

WÉoÉskrqh = H0pdlo =

Gdwh gh qdlvvdqfh =

Surihvvlrq =

  frpsoÉwhu hw À uhqyr|hu À = Ohv Dprxuhx{ ghv 536 0 736
Grqdw Frxorpelhu Ohv DooÉhv Sdulvlhqqhv < Ylood VÉyhulqh :;<93 YRLVLQV0OH0EUHWRQQHX[

Sul{ gh od frwlvdwlrq dqqxhooh =68 ƒ

M*dgkÈuh srxu o*dqqÉh hw mh mrlqv xq fkÈtxh gh 68 ƒ À o*ruguh ghv Dprxuhx{ 536 0 7361

W|sh Gdwh gh plvh
hq flufxodwlrq

QxpÉur gh vÉulh Lppdwulfxodwlrq Frxohxu ©wdw/ sduwlfxodulwÉ+v,

Ghv vruwlhv= edodghv/ udoo|hv/
sduwlflsdwlrqv À gh qrpeuhxvhv
pdqlihvwdwlrqv gh yÉklfxohv
dqflhqv/ 111

Xq exoohwlq gh oldlvrqglvwulexÉ hq
irupdw sdslhu/ suÉvhqwdqw ghv
duwlfohv vxu od ylh gx foxe hw gh vhv
dgkÉuhqwv/ ghv frqvhlov whfkqltxhv/
ghv grfxphqwv g*Ésrtxh/ 111

Ghv uÉgxfwlrqvfkh} fhuwdlqv irxuqlvvhxuv gh slÈfhv gÉwdfkÉhv/
pdlv vxuwrxw xq uÉvhdx gh frqqdlvvdqfhv srxu oh uhqvhljqhphqw
rx od slÈfh txl pdqtxh111

;


